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QUESTION 1
Which of the following statements is true? SELECT ALL THAT APPLY

A. The Service Composability principle is closely associated with the Service Reusability principle because service
composition can be seen as a form of reuse.

B. The Service Composability principle is highly revolutionary because the concept of aggregating software programs is
new to distributed computing.

C. The Service Composability principle emphasizes that services need to be designed to participate as effective
members of multiple service compositions.

D. The Service Composability principle prepares services for immediate and eventual participation in compositions.

Correct Answer: ACD

QUESTION 2
When applying the Service Loose Coupling design principle, we want to the
coupling between the service contract and service consumers and the coupling of

the service contract to its underlying logic.
Select the correct answer.

A. reduce, reduce

B. reduce, increase

C. increase, reduce

D. increase, increase

Correct Answer: A

QUESTION 3

Which of the following statements is true? Select the correct answer.

A. A composition member is a service that is not composed by other services.
B. A composition member is a service that is composed by another service.
C. A composition member is the same as a sub-controller.

D. None of the above statements are true.

Correct Answer: B
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QUESTION 4

Which of the following is a common reason as to why the Standardized Service Contract principle is not followed in
some organizations? Select the correct answer.

A. Development tools are used to auto-generate the details of the technical service contract.
B. Developers ignore service contract design standards.

C. Developers are required to use pre-defined third-party service contracts obtained with the purchase of legacy system
adapters.

D. All of the above.

Correct Answer: D

QUESTION 5

The Service Composability principle is solely dedicated to making services effective composition controllers. Select the
correct answer.

A. True
B. False

Correct Answer: B
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